MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

LINEAR EQUATIONS IN TWO VARIABLES

Solved Example

1. Solve graphically the system of linear equations

x+y=10and x-y=4.

o Watch Video Solution

2.Show graphically the system of linear equations

x+2y=3and 4x+3y=2.

o View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SA2EDRUuO78L
https://dl.doubtnut.com/l/_BxcOvAZAcceD

3.Show graphically that the system of equations

2x + 4y =10 and 3x + 6y = 12 has no solution.

o Watch Video Solution

4. Show graphically that the system of equations 3z —y = 2

92 — 3y = 6 has infinitely many solutions.

o Watch Video Solution

5. Draw the graphs of the equations zy + 1 = 0 and 3z + 2y12 = 0.
Determine the coordinates of the vertices of the triangle formed by

these lines and the xaxis, and shade the triangular region.

o Watch Video Solution



https://dl.doubtnut.com/l/_BxcOvAZAcceD
https://dl.doubtnut.com/l/_YU554M0n3MhM
https://dl.doubtnut.com/l/_MZJiLIlldEGl
https://dl.doubtnut.com/l/_zvzXHvglB2PR

6.Solve x +y=7 and 3x -2y = 11.

Ax=1y=1

B.x=5,y=2

Cx=2y=5

D.x=-5,y=-2

Answer: B

o Watch Video Solution

7.Solve 15x - 8y =29 and 17x + 12y = 75.

o Watch Video Solution

8.Solve 3x -4y =20 and x + 2y = 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_4r6xlOFCK1nk
https://dl.doubtnut.com/l/_7gqPuRI2qLWz
https://dl.doubtnut.com/l/_hojwwy8nJj6U

9. Solve the following system of equations by using the method of

elimination by equating the coefficients: 8z +- 5y =9, 3z +2y =4

o Watch Video Solution

10. Solve 3x -y = 23 and % ~|—%=4.

o Watch Video Solution

6
1.Solve: 4z + — = 15
)
8
6r — — =14
(]

and hencefindpify = px — 2

° Watch Video Solution

7 8 2 12
12.Solve — + — = 2and — + — = 20.
z Yy T (]

[ 4 h |



https://dl.doubtnut.com/l/_hojwwy8nJj6U
https://dl.doubtnut.com/l/_i8SQaZtPMba3
https://dl.doubtnut.com/l/_yepcbLBX8fSc
https://dl.doubtnut.com/l/_1YFPd0xC64Sb
https://dl.doubtnut.com/l/_rGX5g9KnRGJv

| o Watch Video Solution

o Watch Video Solution

3
r—Y

14. Sol 20 +
. Solve
T +y

= 7and
T

-y

o Watch Video Solution

15. (i) Solve 8x - 3y = 5xy and 6x - 5y = - 2xy. How many solutions, this

system of equations has?

(ii) Solve for x and vy, by reducing the following equations in a pair of

linear equations :

2x + 3y = 5xy and 3x - 2y = xy.

o View Text Solution



https://dl.doubtnut.com/l/_rGX5g9KnRGJv
https://dl.doubtnut.com/l/_tZB76FQKx87s
https://dl.doubtnut.com/l/_YHEJhSsg0Us7
https://dl.doubtnut.com/l/_omGFQSprs8co
https://dl.doubtnut.com/l/_tu20sLtMDpQz
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16. Solve: + =
22z +3y)  7(3z — 2y)

where 2z + 3y # Oand3z — 2y # 0.

1

2

7

4

2z + 3y

+3x—2y

=2

° Watch Video Solution

17.Solve 41x + 53y = 135 and 53x + 41y = 147.

Az=1landy =2

B.x =2andy=1

Cx=2andy =2

D.z =1landy=1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tu20sLtMDpQz
https://dl.doubtnut.com/l/_0OQFkgvCwnuq

18. Solve for 'x' and

(a —b)z + (a + b)y = a® — b* — 2ab(a + b)(z +y) = a® + V?

o Watch Video Solution

19. Solve the equations :
(z — 4)(y—4) = 16
(y—6)(z—6) =36

(z—8)(x — 8) = 64.

o View Text Solution

20. Solve the following equations for (z — 3)? and (y + 2)°:

22% + y? — 12z + 4y + 16 = 0 and 3z? — 2y®> — 18z — 8y + 3 = 0.

o View Text Solution



https://dl.doubtnut.com/l/_iohIhYNufPsS
https://dl.doubtnut.com/l/_s6lQjZKzlNCz
https://dl.doubtnut.com/l/_LD4kmYQ0ga1K

21.Solve for xand y :

2"z +y)=1land (z +y)" ¥ =2

o Watch Video Solution

22.Solve :

(3¢ + 2y — 7)° + (52 + Ty — 13)> = 0, for real values of x and y.

o Watch Video Solution

23. Solve the following system of equations by using the method of
cross multiplication

2x+3y=7and 6x + 5y = 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_GsESswtniU8k
https://dl.doubtnut.com/l/_Pr1tETz3nbI0
https://dl.doubtnut.com/l/_y8dw7I1NP2kn

24. Solve the following system of equations by cross multiplication
method

3x-5y=20and 7x + 2y =17.

o Watch Video Solution

25. Solve the following system of equations

bx + ay = 2ab and azx — by = a* — b°.

o Watch Video Solution

26. Solve : a(z +y) + bz —y) = a® — ab + b

a(z +y) — bz —y) = a® + ab + b?

o Watch Video Solution



https://dl.doubtnut.com/l/_7FSNNvG3zAPT
https://dl.doubtnut.com/l/_bvmoQ7R7KeAm
https://dl.doubtnut.com/l/_t4w2rxy9Ajun

27.Show that the following system of equations have unique solution :
(i) Te—2y=3 (i1) 3z+y=17  (i3d) 2z +5y=17
22z — 3y = 16 8z + 11y = 37 5 + 3y = 14

and also solve the system of equations in each case.

° View Text Solution

28.Find the value of k for which the system of equations 2x + ky = 1 and

3x -5y =7 has a unique solution.

° Watch Video Solution

29. For what value of k , will the system of equations
x+2y=25 3x+ky—15=0 has (i) a unique solution? (ii) no

solution

° Watch Video Solution



https://dl.doubtnut.com/l/_bzsMW7Vw5hPu
https://dl.doubtnut.com/l/_BHCTvKkgZjUW
https://dl.doubtnut.com/l/_Dz1U3ZcH698T

30. For what value(s) of a will the system of linear equations

az + 3y = a — 3and 12z + ay = a has a unique solution?

° Watch Video Solution

31. For the following system of equations determine the value of k for
which  the given system has infinitely many solutions:

br +2y=k, 10z +4y =3

° Watch Video Solution

32. Find the values of p and g for which the following system of
equations has infinite number of solutions:

20 +3y =7, (p+qgz+(2p—qy=21

o Watch Video Solution



https://dl.doubtnut.com/l/_qxesog7hBKfp
https://dl.doubtnut.com/l/_4AY8nIANL2Qo
https://dl.doubtnut.com/l/_84fbkjgWgODt

33.for what values of k will the following pairs of linear equations have

infinitely many solutions kx + 3y — (k —3) =0and 12z + ky — k=0

° Watch Video Solution

34. When a system of linear equations said to be consistent. For what
value of k will the equations 3x + 4y + 2 =0 and 9x + 12y + k = 0 are

dependent ?

° Watch Video Solution

35. For what value(s) of k, the pair of linear equations -2x + 5y = 0 and kx

+ 3y =0 has a non-zero solutions?

o Watch Video Solution



https://dl.doubtnut.com/l/_whhdN7knQoYu
https://dl.doubtnut.com/l/_IwuBJhDmmKky
https://dl.doubtnut.com/l/_LWIicLEg4DhW

36. The sum of two numbers is 80. If the larger number exceeds four

times the smaller one by 5. Find the numbers.

° Watch Video Solution

37. The sum of two numbers is 18. The sum of their reciprocals is . Find

the numbers.

° Watch Video Solution

38. The ages of two friends Ani and Biju differ by 3 years. Anis father
Dharam is twice as old as Ani and Biju as twice as old as his sister Cathy.
The ages of Cathy and Dharam differ by 30 years. Find the ages of Ani

and Biju.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ey6ZToSZ1FG
https://dl.doubtnut.com/l/_UrYxxFV5H1Rl
https://dl.doubtnut.com/l/_eaN4nK1sX59m

39. Five years age a man was seven times as old as his son. Five years
hence, the father will be three times as old as his son. Find their present

ages.

° Watch Video Solution

40.The total of the ages of father and son is 55 years. If the father was
to live till his son's age equals his present age, the total of their ages

would be 93 years. Find their present ages.

° View Text Solution

41. The sum of the two-digit number is 9 The number formed by
interchanging the order of the digits 27 more than the given

number.Find the number.

o Watch Video Solution



https://dl.doubtnut.com/l/_WCIK4sqYrFzb
https://dl.doubtnut.com/l/_Zkxm33J6oIuf
https://dl.doubtnut.com/l/_ZWYTnSXtASpF
https://dl.doubtnut.com/l/_jMtb5YDLN77F

42.1f 2 is added to the numerator of a fraction, it reduces to 1 /2 and if 1
is subtracted from the denominator, it reduces to 1/3 . Find the

fraction.

° Watch Video Solution

43.5 books and 7 pens together cost Rs 79 whereas 7 books and 5 pens

together cost Rs 77. Find the total cost of 1 book and 2 pens.

° Watch Video Solution

44. A fruit seller has certain number of oranges. He divides them into
two lots A and B. He sells the lot at 3 oranges for Rs. 2 and the lot B at 1
oranges for Rs. 1. Thus he gets Rs. 400, if he had sold the first lot at 1
oranges for Rs. 1 and the second lot B at 5 oranges for Rs. 4, he would

have got Rs. 460. Find the total number of oranges.

O View Text Solution



https://dl.doubtnut.com/l/_jMtb5YDLN77F
https://dl.doubtnut.com/l/_TXzaNOdkLixu
https://dl.doubtnut.com/l/_405CYAxlKrIC

45. On selling a tea-set 5% loss and a lemon-set at 15% gain, a crockery
seller gains Rs. 7. If he sells the tea-set at 5% gain and the lemon-set at
10% gain, he gains Rs. 13. Find the actual price of the tea-set and the

lemon-set.

° Watch Video Solution

46. A man sold a chair and a table together for 760 thereby making a
profit of 25% on the chair and 10% on the table. By selling them
together for 767.50 he would have made a profit of 10% on the chair and

25%, on the table. Find the cost price of each.

o Watch Video Solution

47.Ina AABC, /C = 3/B = 2(/A + /B) find the three angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_piIncANuywOg
https://dl.doubtnut.com/l/_kb8BZIjJXgCE
https://dl.doubtnut.com/l/_FQxpNfvzrp4e
https://dl.doubtnut.com/l/_vU7ToNiGHJSP

48.The area of a rectangle gets reduced by 9 square units if its length is
reduced by 5 units and the breadth is increased by 3 units. If we increase
the length by 3 units and breadth by 2 units, the area is increased by 67

square units. Find the length and breadth of the rectangle.

° Watch Video Solution

49. A lady has 25 paise and 50 paise coins in her purse. If in all she has
40 coins and value of her money is Rs. 12.75, how many coins of each

type does she have?

o Watch Video Solution

50. A man when asked "how many hens and buffaloes he has ?". He
replied that they have 78 eyes and 110 legs in all. Find the number of

hens and buffaloes separately.

O Watch Video Solution



https://dl.doubtnut.com/l/_vU7ToNiGHJSP
https://dl.doubtnut.com/l/_aHxabaSXZLKD
https://dl.doubtnut.com/l/_9NivN6TrbqqI

51.2 men and 7 boys can do a piece of work in 4 days. The same work is
done in 3 days by 4 men and 4 boys. How long would it take one man

and one boy to do it?

° Watch Video Solution

52. Water is pouring into a tank at a constant rate. when the tank is full,
10 pumps of equal capacity empty the tank in 12 hrs, while 15 pumps of
the same capacity empty the tank in 6 hrs. The time which 25 pumps of
the same capacity take to empty the tank, if the tank in initially full, will

be:

o Watch Video Solution

53. Some students planned a picnic. The budget for food was Rs. 500.
But 5 of them failed to go and thus the cost of food for each member

increased by Rs. 5. How many students attended the picnic?

[ o |


https://dl.doubtnut.com/l/_lLN4EnOr4WyT
https://dl.doubtnut.com/l/_juTqKN1XakUL
https://dl.doubtnut.com/l/_KflDvwrhPQwg

l & Watch Video Solution J

54. A plane left 30 minutes late than its scheduled time and in order to
reach the destination1500 km away in time, it had to increase the speed

by 250 km/h from the usual speed.Find its usual speed.

° Watch Video Solution

55. Places A and B are 100 km apart on a highway. One car starts from A
and another from b at the same time. If the cars travel in the same
direction at different speeds, they meet in 5 hours. If they travel towards

each other, they meet in 1 hour. What are the speeds of the two cars

o Watch Video Solution

56. 5. After covering a distance of 30 km with a uniform speed there is
some defect in train engine and therefore, its speed is reduced to 4/5 of

its original speed. Consequently, train reaches its destination late by 45


https://dl.doubtnut.com/l/_KflDvwrhPQwg
https://dl.doubtnut.com/l/_yEEfd491AQGk
https://dl.doubtnut.com/l/_dUfaERog5h6k
https://dl.doubtnut.com/l/_C5F6VtHs953b

minutes. Had it happened after covering 18 km more, reached 9 minutes

earlier. Find the speed of the train and the distance of covered.

° Watch Video Solution

57. A boat goes 30 km upstream and 44 km downstream in 10 hours. In
13 hours, it can go 40 km upstream and 55 km downstream. Determine

the speed of the stream and that of the boat in still water.

o Watch Video Solution

58. A boat which travels at the rate of 10.5 km/hr downstream takes 3
times as long time to go to a certain distance up a river as to go the

same distance down. Find the rate at which stream flows.

O Watch Video Solution



https://dl.doubtnut.com/l/_C5F6VtHs953b
https://dl.doubtnut.com/l/_SSsABsNQMmTl
https://dl.doubtnut.com/l/_p0S2LzfgEkTd

59. Half the perimeter of a rectangular garden, whose length is 4 m
more than its width, is 36 m. Find the dimensions of the garden by

graphical method.

° View Text Solution

60. Solve 2z + 3y = 11 and 22 — 4y = — 24 and hence find the value

of 'm' for which y = ma + 3.

° Watch Video Solution

61. (i) For which values of a and b does the following pair of linear
equations have an infinite number of solutions?

2x+3y=7

(@-b)x+(a+b)y=3a+b-2

(ii) For which value of k will the following pair of linear equations have

no solution?


https://dl.doubtnut.com/l/_Q3oPiTUcOStF
https://dl.doubtnut.com/l/_cNoQ14TJlLCY
https://dl.doubtnut.com/l/_WkiyQIy6bckb

3x+y=1

(2k-Nx + (k-T)y=2k +1

o Watch Video Solution

62. Formulate the following problems as a pair of equations, and hence
find their solutions: (i) Ritu can row downstream 20 km in 2 hours, and
upstream 4 km in 2 hours. Find her speed of rowing in still water and

the speed of the current. (ii) 2 wome

° Watch Video Solution

63. One says, "Give me a hundred, friend ! | shall then become twice as
rich as you". The other replies. 'If you give me ten, | shall be six times as
rich as you". Tell me what is the amount of their (respective) capital?

[From the Bijaganita of B

o Watch Video Solution



https://dl.doubtnut.com/l/_WkiyQIy6bckb
https://dl.doubtnut.com/l/_lLcZq2DDHO2p
https://dl.doubtnut.com/l/_xcGZekLiHACx
https://dl.doubtnut.com/l/_qsdDQzhMmhuU

64. The students of a class are made to stand in rows. If 3 students are
extra in a row, there would be 1 row less. If 3 students are less in a row

there would be 2 rows more. Find the number of students in the class.

° Watch Video Solution

65. Two straight paths are represented by the equations z — 3y = 2

and — 2z + 6y = 5. Check whether the paths cross each other or not.

O Watch Video Solution



https://dl.doubtnut.com/l/_qsdDQzhMmhuU
https://dl.doubtnut.com/l/_2tSG8RqUeZis

66. Find the values of x and y in the following rectangle :

& R

We know that the opposite sides of a rectangle are equal
. 3x+y=7..(1)
X +3y=13..(2)

9x + 3y =21 [from (1)]
x+ 3y =13

On subtracting, 8x =8

x=1

Now, from (1),3 (1) +y=7
impliesy=7-3

impliesy =4

Hence, the required values of x and y are 1 and 4 respectively.



https://dl.doubtnut.com/l/_vmT1lOO3Hf0u

I ) Watch Video Solution

67. The age of the father is twice the sum of the ages of his two children.
After 20 yr, his age will be equal to the sum of the ages of his children.

Find the age of the father.

O Watch Video Solution

68. Two numbers are in the ratio 5: 6. If 8 is subtracted from each of the

numbers, the ratio becomes 4 : 5, then find the numbers.

° Watch Video Solution

69. A shopkeeper gives books on rent for reading. She takes a fixed
charge for the first two days and an additional charge for each day

thereafter. Latika paid Rs. 22 for a book kept for six days, while Anand


https://dl.doubtnut.com/l/_vmT1lOO3Hf0u
https://dl.doubtnut.com/l/_kjVnmWv4YWje
https://dl.doubtnut.com/l/_MSWv1YQRPefr
https://dl.doubtnut.com/l/_rDKwkmBH2w4t

paid Rs. 16 for the book kept for four days. Find the fixed charges and

the charge for each extra day.

° Watch Video Solution

70. In a competitive examination, 1 mark is awarded for each correct
answer while 1/2 mark is deducted for every wrong answer. Jayanti
answered 120 questions and got 90 marks. How many questions did she

answer correctly?

° Watch Video Solution

71. A shopkeeper sells a saree at 8% profit and a sweater at 10%
discount, thereby, getting a sum Rs 1008. If she had sold the saree at
10% profit and the sweater at 8% discount, she would have got Rs 1028
then find the cost of the saree and the list price (price before discount)

of the sweater.

o Watch Video Solution



https://dl.doubtnut.com/l/_rDKwkmBH2w4t
https://dl.doubtnut.com/l/_XNvGuwRr9woP
https://dl.doubtnut.com/l/_vaxOsNMS6GxV

72.The pair of equationsy=0and y=7 has:
(a) one solution (b) two solutions

(c) infinitely many solutions (d) no solution

O Watch Video Solution

73.1f x=a and y = b is the solution of the equations x-y=2and x+y=4,

then the values of a and b are, respectively

O Watch Video Solution

74. For the pair of equations Ax + 3y + 7 = 0 and 2z + 6y — 14 = 0.
To have infinitely many solutions, the value of A should be 1. Is the

statement true ? Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_vaxOsNMS6GxV
https://dl.doubtnut.com/l/_2u0cHZn90VuC
https://dl.doubtnut.com/l/_UkCd3SiyCRa4
https://dl.doubtnut.com/l/_MKkImUzETFoB
https://dl.doubtnut.com/l/_2WZ4XcAG9o6V

75. For which values of a and b will the following pair of linear equations
has infinitely many solutions ?
z+2y=1

(a—bz+(a+by=a+b= —2

O Watch Video Solution

76. If (x+1) is a factor of 22 + azx® + 2bx + 1, then find the value of a

and b given that 2a-3b=4.

° Watch Video Solution

77. A person can row a boat at the rate of 5 km/hour in still water. He
takes thrice as much time in going 40 km upstream as in going 40 km

downstream. Find the speed of the stream.

o Watch Video Solution



https://dl.doubtnut.com/l/_2WZ4XcAG9o6V
https://dl.doubtnut.com/l/_q2NTvWpVLIc8
https://dl.doubtnut.com/l/_J12o89UzZSof

1 3z —y—2-0
"2 +y—8=0

o Watch Video Solution

2¢ +y = 23
“4r —y =19

o Watch Video Solution

=6
3.:13—|—y
T —y=2

o Watch Video Solution

4 2 + 3y =4
‘r—y= —3

o Watch Video Solution



https://dl.doubtnut.com/l/_T2fv5TouKnlC
https://dl.doubtnut.com/l/_2iR9i2E2YamR
https://dl.doubtnut.com/l/_mBxyf9C6H2YZ
https://dl.doubtnut.com/l/_NQNtc47icghz

s 223y +5=0

3z —2y—12=0

o Watch Video Solution

6 2c —5y+4=0
"2r4+y—8=0

o Watch Video Solution

2r — 3y = — 13
"3 —2y= —12

o Watch Video Solution

xT—2y= —2
"2 +y =16

o Watch Video Solution



https://dl.doubtnut.com/l/_vGiZMN0eRBQZ
https://dl.doubtnut.com/l/_f8ru0Q4lNZft
https://dl.doubtnut.com/l/_2z9Wf1FN0zpy
https://dl.doubtnut.com/l/_T1Y22TYBWTEN

5 3z + 5y = 12
"3z —5y= —18

o Watch Video Solution

dr —2y=4

10.
5c — 2y =0

o Watch Video Solution

11. Show graphically that following system of equations has infinitely

many solutions: x — 2y + 11 =0; 3z —6y+33 =0

o Watch Video Solution

12. Find graphically the vertices of the triangle whose sides have the

equations 2y -x =8, 5y -x =14 and y = 2x = 1, respectively.

o View Text Solution



https://dl.doubtnut.com/l/_5134assZ3YOQ
https://dl.doubtnut.com/l/_xO8Cr0mvurNE
https://dl.doubtnut.com/l/_jmcoj7PBV550
https://dl.doubtnut.com/l/_wjhqaqutxvY7

13. Solve the following system of linear equations graphically:
3r+y—11=0, = —y— 1= 0.Shadethe region bounded by these
lines and y-axis. Also, find the area of the region bounded by these lines

and y-axis.

° Watch Video Solution

dz —3y+4=0

14.
dr +3y—20=0

o View Text Solution

z—y= —1

15.
3z + 2y = 12

° View Text Solution

16. Draw the graphs of the following  equations:

2¢ —3y+6=0, 2x+3y— 18 =0, y— 2= 0Find the vertices of


https://dl.doubtnut.com/l/_edTRWu2nna5D
https://dl.doubtnut.com/l/_VoFn7cYMiJWQ
https://dl.doubtnut.com/l/_9VseZw9KkoxP
https://dl.doubtnut.com/l/_QtuluADx3hCv

the triangle so obtained. Also, find the area of the triangle.

o Watch Video Solution

17. Express y in terms of x from the following equation.
3x-2y+6=0

5 3
and check whether ( — 5 = Z) is a point on the given line.

° Watch Video Solution

18. Draw the graphs of the following equations on the same graph paper

3x-2y=9,4y-6x+12=0

Find the area of trapezium formed by these two lines and the axes.

o View Text Solution



https://dl.doubtnut.com/l/_QtuluADx3hCv
https://dl.doubtnut.com/l/_vVxWkkr7BYki
https://dl.doubtnut.com/l/_ymrDLOWNKzht

1w—|—y:17
r—y=1

o Watch Video Solution

3z +2y=4
2 —3y="7

o Watch Video Solution

3.3 —4y = 10,4z + 3y =5

° Watch Video Solution

11
bz y=09%—— =105
Y 2(z +y)

o Watch Video Solution



https://dl.doubtnut.com/l/_W7QndcjcShak
https://dl.doubtnut.com/l/_Jkn3TaomdJMt
https://dl.doubtnut.com/l/_rkF2oIV7R6We
https://dl.doubtnut.com/l/_LT2W3VeamQ2O

3r —2y==6

o Watch Video Solution

x=2y—1
"y=5- 3z

o Watch Video Solution

0.4x + 0.3y = 1.7
"0.7z — 0.2y = 0.8

° Watch Video Solution

g 0-04z +0.02y = 5
"0.5(z — 2) — 0.4y = 29

o Watch Video Solution



https://dl.doubtnut.com/l/_oqsJqA9utYV9
https://dl.doubtnut.com/l/_S20WxOgpcKhZ
https://dl.doubtnut.com/l/_4Ll7nQdGPmlo
https://dl.doubtnut.com/l/_ZG54I12ds4H0

y=2x —6
Sy =0

o Watch Video Solution

\/_ac—\/7y—0
\/7:76—\/_?!_0

o Watch Video Solution

5+y=08
n -
=1
a:—l—% 0

o Watch Video Solution

Watch Video Solution

v



https://dl.doubtnut.com/l/_kT2iW7Xl68Kg
https://dl.doubtnut.com/l/_FUb8wrKMUBiD
https://dl.doubtnut.com/l/_bzroQKAgpyfj
https://dl.doubtnut.com/l/_0Ytb5FsCjh9P
https://dl.doubtnut.com/l/_TFLU2H4yO5je

B iy L, 9 1 1 4
" "BV T w0 YT

o Watch Video Solution

10 4
T+Yy r—y 2
15 7 _
r+y + r—y

14.

o Watch Video Solution

Tzy
3
llay
3

2z +y =
15.

z+ 3y =

o Watch Video Solution

1 5 _ -3
2(z+2y) 3(3z—2y) 2
6 B 3 _ 61
4(z+2y) 5(3z—2y) 60

o Watch Video Solution



https://dl.doubtnut.com/l/_TFLU2H4yO5je
https://dl.doubtnut.com/l/_TrMkIEganOoV
https://dl.doubtnut.com/l/_qvlzIAS5vCyq
https://dl.doubtnut.com/l/_oAzF8RkqTeOi

+3y=14
— 4y = 23

17.

8w 8|

Watch Video Solution

v

18. v

o Watch Video Solution

+
Qe Qe

19.

Sl Sl

o Watch Video Solution

20. Solve the following system

2(3u —v) = buv, 2(u + 3v) = buv

of

equations:

o Watch Video Solution



https://dl.doubtnut.com/l/_Hh7dLi7qlqms
https://dl.doubtnut.com/l/_mI0Dk0s7AuY6
https://dl.doubtnut.com/l/_icQuGh11zitU
https://dl.doubtnut.com/l/_V6uNWSGbswlb

65x — 33y = 97
"33z — 65y =1

o Watch Video Solution

132z + 11y = 70
Tllz + 13y = 74

o Watch Video Solution

217z + 131y = 913
131z + 217y = 827

o Watch Video Solution

" 152z — 378y = — 74
" 378z + 152y = — 604

o Watch Video Solution



https://dl.doubtnut.com/l/_V6uNWSGbswlb
https://dl.doubtnut.com/l/_v1wSamS8KwTc
https://dl.doubtnut.com/l/_uc0wCsGMl49A
https://dl.doubtnut.com/l/_ckUFfttju1Lw
https://dl.doubtnut.com/l/_iYM4pfHQlwBt

r+y=a+b
25. 5 19
ar —by=a*—-0>

° Watch Video Solution

2650Ive—+g—a+b—+£:2
b b?

° Watch Video Solution

27. Solve the following system of linear equations (with rational

denominator) by using the method of elimination :

V3z — /2y = /3 and sqrt(5)x + sqrt(3)y = sqrt(2)".

o Watch Video Solution

6 8
28.4x + g = 15and 6 — Z = 14, and hence, find p if y = px - 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_UbrBvTwH8epl
https://dl.doubtnut.com/l/_eyhaoTtDDDYX
https://dl.doubtnut.com/l/_QDDhO7hOVMKq
https://dl.doubtnut.com/l/_fhVZw9mwPqpC

29. Solve the following system of equations:

Tr — 2 8 7
27 STEY _ s
Ty Ty

o Watch Video Solution

30. Solve for (z — 1)2 and (y + 3)2,
2z2 — 5y —x — 2Ty — 26 = 3(z +y + 5)

and 4z% — 3y* — 2zy + 2z — 32y — 16 = (a:—y+4)2.

o View Text Solution

z+ 8y =19
"2z 4 11y = 28

o Watch Video Solution



https://dl.doubtnut.com/l/_46yup8o9O8SK
https://dl.doubtnut.com/l/_32i7ArFD7ODz
https://dl.doubtnut.com/l/_05VV7l3MxLBH

8z 4+ 13y —29=0
122 —Ty—17=0

o Watch Video Solution

3y+2x =0
"4y +3z=5

o Watch Video Solution

£+i:4
43 15

Tz Y _ 19
3 12 =~ 4

o Watch Video Solution

5. Solve the following system of equations by method of cross-

2 3 5 4
multiplication: = +—=13, ———= —2 , where z #0 and

Y Ty
y#0

o Watch Video Solution



https://dl.doubtnut.com/l/_in1kt0PZvEZk
https://dl.doubtnut.com/l/_wwH2cZICid4s
https://dl.doubtnut.com/l/_w8G2vkklr6bp
https://dl.doubtnut.com/l/_lGr6eNApRTum

o Watch Video Solution

7.0 +y=a+baxr — by = a? — b

o Watch Video Solution

ax — by = a® + b
‘r4+y=2a

o Watch Video Solution

9.2(ax — by) + (a + 4b) = 0,2(bz + ay) + (b —4a) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_lGr6eNApRTum
https://dl.doubtnut.com/l/_Apa5ICaRZZFI
https://dl.doubtnut.com/l/_p0eSwBkawAzP
https://dl.doubtnut.com/l/_6BOWtgbwG3Tm
https://dl.doubtnut.com/l/_BvKDYg5eWpEo

10.Solve:ax + by =c¢, bx +ay=1+c

° Watch Video Solution

n%—%zam+@:£+ﬁ

o Watch Video Solution

% = a+ b, wherex, y # 0.

° Watch Video Solution

13. (a —b)z + (a + b)y = a* — 2ab — b

find xand y

, (@ +b)(z+y) =a®+b

° Watch Video Solution



https://dl.doubtnut.com/l/_RiDhfb0MMQWq
https://dl.doubtnut.com/l/_eyaULBKWy1si
https://dl.doubtnut.com/l/_u9k4LaqsaNUS
https://dl.doubtnut.com/l/_Ik6r3waFaSFl
https://dl.doubtnut.com/l/_B3Z8sug2nXqR

ax +by =1

(a+b)?
a?+ b2

14

.bx—i-ay: -1

° Watch Video Solution

15. By solving equations 3x + 4y = 23 and 5x + 12y = 39 with the help of

1 4
cross multiplication method, we obtain z_ y = —, then find a—;— b
a c c

° Watch Video Solution

2¢ — 3y = 17
“4xr 4y =13

o Watch Video Solution



https://dl.doubtnut.com/l/_B3Z8sug2nXqR
https://dl.doubtnut.com/l/_ug9n7WqbV2w6
https://dl.doubtnut.com/l/_eLFCewoAU4sH

5 + 2y = 16
2. 6
3$+gy:2

o Watch Video Solution

3r —y=2
"6z 4 2y =4

o Watch Video Solution

° Watch Video Solution

x—3y=3
"3z — 9y =2

o Watch Video Solution



https://dl.doubtnut.com/l/_KNmqhO29kMJm
https://dl.doubtnut.com/l/_TYbOkzvl9M33
https://dl.doubtnut.com/l/_Y6iKDAsIDz7D
https://dl.doubtnut.com/l/_L8qUorleUrXN

x—2y=2~8
"5z — 10y = 10

o Watch Video Solution

7kx—|—2y:5
3rx4y=1

o Watch Video Solution

8 2z — 3y =1
“kx+b5y=17

o Watch Video Solution

2z —3y—5=0
"kxr —6y—8=0

o Watch Video Solution



https://dl.doubtnut.com/l/_9zYAvWJAJfqn
https://dl.doubtnut.com/l/_leSiZpf10I5m
https://dl.doubtnut.com/l/_Gb5jrKAVFVFa
https://dl.doubtnut.com/l/_95bOogw4A77l

x—ky=2

10.
3z +2y= —5

o Watch Video Solution

8z + 5y =9
“kx + 10y = 18

o Watch Video Solution

. 2r + 3y = 2
(k+2)z 4+ (2k+ 1)y =2(k - 1)

o Watch Video Solution

3 2+ (k—2y=k
"6+ (2k— 1)y =2k +5

o Watch Video Solution



https://dl.doubtnut.com/l/_mnTF6NK4kvLr
https://dl.doubtnut.com/l/_5zx2WUMB7NIZ
https://dl.doubtnut.com/l/_Wscm7DSuMjvo
https://dl.doubtnut.com/l/_6cQqx1RvXiXR

(k—=3)z+3y=%k
Tkx + ky = 12

o Watch Video Solution

kx + 3y =3
122 + ky =6

o Watch Video Solution

kx +3y=F%k—3
12z +ky=%F

o Watch Video Solution

8 + 5y =19
“kx + 10y =8

o Watch Video Solution



https://dl.doubtnut.com/l/_JSiFbRH8xWf3
https://dl.doubtnut.com/l/_EHr6PDu5N0SN
https://dl.doubtnut.com/l/_4pbVBsfJ7mR1
https://dl.doubtnut.com/l/_OM7boV7sGJ7s

18. For what value of k, the system of equations 4x + 6y = 11 and 2x + ky =

7 will be inconsistent?

C. no value of k is possible

D. k can have any real value

Answer: A

O Watch Video Solution

19. For what value of k, the system of equations 3x + 4y =6 and 6x + 8y =

k represents coincident lines?

o Watch Video Solution



https://dl.doubtnut.com/l/_G72ckrgrFVHH
https://dl.doubtnut.com/l/_iEyOYaNF69Mg

20. Find k, such that the system 3x + 5y = 0 and kx + 10y = O has a non-

zero solution.

° Watch Video Solution

21. Obtain the condition for the following system of linear equations to

has a unique solution

pr + qy = rand lx + my = n.

A.pm=ql

B.pm-ql=0

C.pm # (¢l

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9o6SaSJYrMui
https://dl.doubtnut.com/l/_gQwls5zveSx0
https://dl.doubtnut.com/l/_irqsnwIc0RSw

(2a—1)z+3y—5=0
"3z +(b-1)y—2=0

o Watch Video Solution

2z + 3y =9
"(p+ g+ 20— qy=3(p+qg+1)

o Watch Video Solution

2+ 3y="7
“(a—Dz+ (a+2)y = 3a

o Watch Video Solution

2 — 3y =k
"dr + 5y =3

o Watch Video Solution



https://dl.doubtnut.com/l/_irqsnwIc0RSw
https://dl.doubtnut.com/l/_OlvBz7kaaleX
https://dl.doubtnut.com/l/_8k23nxa8ZcKj
https://dl.doubtnut.com/l/_8fUDyiCLCkXn

2 — 4y =3
b —ky=17.5

o Watch Video Solution

. 2 — 4y = k
"br — 10y = 7.5

o Watch Video Solution

28. For what value of k, the system of equations 5x - ky = 3 and 10x - 3y =

6 is independent?

o Watch Video Solution

29. For what value of k, the system of equations 3x - 2y =5 and 6x - ky = 8

has no unique solution?

o Watch Video Solution



https://dl.doubtnut.com/l/_Vs3eIkaCNaj3
https://dl.doubtnut.com/l/_Lmpjj0tQTdK3
https://dl.doubtnut.com/l/_7DtAsF3CXbW8
https://dl.doubtnut.com/l/_Bi8l9SMydnI4

30. For what value of k, the equations 2x - 3y = 4 and 3x - ky = 5 meet at

exactly one point i.e,, unique point whose abscissa is -1?

Ak= —4

D. none of these

Answer: B

o Watch Video Solution

31. For what value of k, the two lines 3z — 5y = 4 and 6x — ky = 8 are

parallel to each other?

A.k = lonly

B.k = Oonly


https://dl.doubtnut.com/l/_6utWETkKMh2n
https://dl.doubtnut.com/l/_C4uOnVvR9HR6

C. k can have any real value

D. No value of k is possible

Answer: D

° Watch Video Solution

32. For what value of k, the two lines 2x - 4y = 6 and 3x - 6y = k are parallel

forever?

A k= —9only

B.k=9

C. All real values except 9

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_C4uOnVvR9HR6
https://dl.doubtnut.com/l/_ZaSmr2mA557D
https://dl.doubtnut.com/l/_bA8s2JblvxZs

33. For what value of k, the system of equations x - 3y =5 and 2x - 6y = k

has at most one solution?

° Watch Video Solution

34. For what value of k, the system of equations x -3y =5 and 2x - ky =10

has at most one solution?

o Watch Video Solution

35. For what value of k, the system of equations x -3y =5 and 2x - 5y = k

has at most one solution?

o Watch Video Solution



https://dl.doubtnut.com/l/_bA8s2JblvxZs
https://dl.doubtnut.com/l/_gUABzODjs6eC
https://dl.doubtnut.com/l/_opVnM3fF4tel

1. A father is three times as old as his son. After twelve years, his age will

be twice as that of his son then. Find their present ages.

° Watch Video Solution

2. Five years ago, A was thrice as old as B and 10 years later, A shall be

twice as old as B. What are the present ages of A and B?

° Watch Video Solution

3. If twice the sons age in years is added to the fathers age, the sum is
70. But if twice the others age is added to the sons age, the sum is 95.

Find the ages of father and son.

o Watch Video Solution



https://dl.doubtnut.com/l/_xk0Dc3qLdbyQ
https://dl.doubtnut.com/l/_DIXDvZMEXf46
https://dl.doubtnut.com/l/_qBhPBK9fIVWR

4. A and B are friends and their ages differ by 2 years. As father D is
twice as old as A and B is twice as old as his sister C. The age of D and C

differ by 40 years. Find the ages of A and B.

° Watch Video Solution

5. The present age of a father is equal to the sum of the ages of his 5
children. 12 years hence, the sum of the ages of his children will be twice

the ages of their father. Find the present age of the father.

° Watch Video Solution

3
6. Eight years ago Mohan's age was 7 of Sohan's. Four years hence

6
Mohan's age will be = of Sohan's. Find their present ages.

o Watch Video Solution



https://dl.doubtnut.com/l/_jat0azkSBRkn
https://dl.doubtnut.com/l/_1aUssWL7Jvag
https://dl.doubtnut.com/l/_W8E3wW5ameVk

7.Sum of two numbers is 35 and their difference is 13. Find the numbers.

° Watch Video Solution

8. Find two numbers, which differ by 7, such that twice the greater

added to five times the smaller makes 42.

° Watch Video Solution

9. There are two numbers. Four times the first exceeds seven times the
second by 2. Sum of two times the first and three times the second in 92.

Find the numbers.

° Watch Video Solution

10.1f 1 is added to each of the two given numbers then their ratio is 1: 2.

If 5is subtracted from each the ratio is 5: 11. Find the numbers.



https://dl.doubtnut.com/l/_oFl7fmW0ihGs
https://dl.doubtnut.com/l/_YojzAS7IPuKe
https://dl.doubtnut.com/l/_Uk9kIN6Ki2cQ
https://dl.doubtnut.com/l/_IiE4M3rIYHjM

[ ° Watch Video Solution

11. If three times the larger of the two numbers is divided by the smaller,
we get the quotient 6 and remainder 6. If five times the smaller is
divided by the larger, we get quotient 2 and remainder 3. Find the

numbers.

° Watch Video Solution

12. The sum of the digits of a two digit number is 10. If 18 is subtracted

from the number, digits are reversed. Find the numbers.

° Watch Video Solution

13. In a two digit number, the units digit is twice the tens digit. If 27 is
added to the number, the digits interchange their places. Find the

number.



https://dl.doubtnut.com/l/_IiE4M3rIYHjM
https://dl.doubtnut.com/l/_HxUtW7B8169j
https://dl.doubtnut.com/l/_0prNDzmlImaR
https://dl.doubtnut.com/l/_bvXeOPbdsiDP

l @ Watch Video Solution J

14. A two digit number is obtained by either multiplying the sum of the
digits by 8 and adding 1, or by multiplying the difference of the digits by

13 and adding 2.Find the number? How many such nos are there.?

° Watch Video Solution

15. Seven times a two-digit number is equal to four times the number
obtained by reversing the digits. If the difference between the digits is 3.

Find the number.

o Watch Video Solution

16. A fraction becomes 4/5, if 1 is added to both numerator and
denominator. If, however, 5 is subtracted from both numerator and

denominator, the fraction becomes . What is the fraction.

.Y l


https://dl.doubtnut.com/l/_bvXeOPbdsiDP
https://dl.doubtnut.com/l/_Rv5WcmQgQ9Y9
https://dl.doubtnut.com/l/_1W8tKoO4zLlP
https://dl.doubtnut.com/l/_8Wpnf3bS8VuC

| ¥ vvailch Video >olution ]

17. A fraction is such that if the numerator is multiplied by 3 and the
denominator is reduced by 3, we get 18/11, but if the numerator is
increased by 8 and the denominator is doubled, we get 2/5. Find the

fraction.

o Watch Video Solution

18. If the denominator of a fraction is added to its numerator and the

11

numerator subtracted from its denominator, the fraction becomes 3

Determine the fraction if its numerator is 3 less than the denominator.

° Watch Video Solution

19. 4 chairs and 3 tables cost Rs 2100 and 5 chairs and 2 tables cost Rs

1750. Find the cost of a chair and a table separately.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_8Wpnf3bS8VuC
https://dl.doubtnut.com/l/_8fm96rrtmcDw
https://dl.doubtnut.com/l/_6OlpJqJlgsY2
https://dl.doubtnut.com/l/_cldzxcM5ZdMF

20. The cost of 3 oranges and 12 apples is Rs. 9.60 and the cost of 5

oranges and 7 apples is Rs. 6.90. Find the cost of apples per dozen.

° Watch Video Solution

21. From Delhi station if we buy 2 tickets to station A and 3 tickets to
station B, the total cost is Rs. 77, but if we buy 3 tickets to station A and
5 tickets to station B the total cost is Rs. 124. What are the fares from

Delhi to station A and to station B?

o Watch Video Solution

22. A railway half ticket costs half the full fare and the reservation
charge is the same on the half ticket as on full ticket. One reserved first

class ticket from Mumbai to Ahmedabad costs rs216 and one full and


https://dl.doubtnut.com/l/_cldzxcM5ZdMF
https://dl.doubtnut.com/l/_u7z9B7ogC07Q
https://dl.doubtnut.com/l/_VKENmhApIfRV
https://dl.doubtnut.com/l/_PqG4FQjldan3

one half reserved first class tickets cost rs 327 What is the basic first

class full fare and what is the reservation charge?

° Watch Video Solution

23. Point A and B are 90 km apart from each other on a highway. A car
starts from A and another from B at the same time. If they go in the
same direction they meet in 9 hours and if they go in opposite

directions they meet in 9/7 hours. Find their speeds.

° Watch Video Solution

24. in the triangle ABC,/A=2z°,/B=3z°,/C =y°. if

3y — 5z = 30 then prove that the triangle is right angled.

O Watch Video Solution



https://dl.doubtnut.com/l/_PqG4FQjldan3
https://dl.doubtnut.com/l/_8xMIDcLjI8bS
https://dl.doubtnut.com/l/_zCoiv0YHi3Rq

25. In a AABC, /A =2z°,/B = (3z —2)°, also LC — /B =9°,

find the three angles.

° Watch Video Solution

26.The largest angle of a triangle is twice the sum of the other two. The
smallest is one-fourth of the largest. Determine all the angles in

degrees.

o Watch Video Solution

27. In a cyclic quadrilateral ABCD ,
LA = (22 +4)o, /B = (y+3)o, ZC = (2y+ 10)o, 4D = (4= — 5)o

. Find the four angles.

o Watch Video Solution



https://dl.doubtnut.com/l/_HxkxjwtSDSLg
https://dl.doubtnut.com/l/_nhOoECTmoI4s
https://dl.doubtnut.com/l/_514ggUNLN1or

28. If in a rectangle, the length is increased by 2 units and breadth is
reduced is reduced by 2 units, the area is reduced by 28 square units. If
however the length is reduced by 1 unit and breadth is increased by 2
units, the area increases by 33 square units. Find the area of the

rectangle.

° Watch Video Solution

29. The perimeter of a rectangle plot is 32 metres. If the length is
increased by 2 metres and the breadth is decreased by 1 metre, the area

of the plot remains unchanged. Find the dimensions of the plot.

° Watch Video Solution

30. The area of a rectangle remains the same if the length is increased

by 7 metres and the breadth is decreased by 3 metres. The area remains


https://dl.doubtnut.com/l/_DQFuvV5pPjbW
https://dl.doubtnut.com/l/_k8v6cOLNfvrf
https://dl.doubtnut.com/l/_o7IWz0SMnm9D

unaffected if the length is decreased by 7 metres and breadth is

increased by 5 metres. Find the dimensions of the rectangle.

° Watch Video Solution

31. A man went to a Bank with Rs. 1000. He asked the cashier to give him
Rs. 5 and Rs. 10 notes only in return. The man got 175 notes in all. Find

how many notes of Rs. 5 and Rs. 10 did he receive.

o Watch Video Solution

32. Post cards costing 15 paise each and inland letters costing 75 paise
each were purchased for Rs. 33. Total number of post cards and inland
letters purchased was 60. If the number of post cards and inland letters

are interchanged, find the cost.

O Watch Video Solution



https://dl.doubtnut.com/l/_o7IWz0SMnm9D
https://dl.doubtnut.com/l/_565XaJHcf1Z0
https://dl.doubtnut.com/l/_SuzDbc82KkVc

33.2 men and 5 boys together can finish a piece of work in 4 days, while
3 men and 6 boys can finish it in 3 days. Find the time taken by 1 man

alone to finish the work and than taken by 1 boy alone.

° Watch Video Solution

34. A and B together can do a piece of work in 15 days. If 1 day's work of
1
A be 15 times one day's work of B. Find in how many days each alone

will do the work.

° Watch Video Solution

35. A takes 3 hours more than B to walk a distance of 30 km. But, if A

1
doubles his pace (speed) he is ahead of B by 15 hours. Find the speeds

of Aand B.

o Watch Video Solution



https://dl.doubtnut.com/l/_IoxdB8ZCASdO
https://dl.doubtnut.com/l/_nxtRduMPZfHt
https://dl.doubtnut.com/l/_wLggv9eJUXsM
https://dl.doubtnut.com/l/_BNVjA1ZPiCMP

36. The boat goes 25 km upstream and 33 km downstream in 8 hours. It
can also go 40 km upstream and 77 km downstream in 15 hours. Find

the speed of the stream and that of boat in still water.

° Watch Video Solution

37. A boat travels for 7 hours. If it travels 4 hours downstream and 3
hours upstream than it covers the distance of 116 km. But if it travels 3
hours downstream and 4 hours upstream, it covers a distance of 108 km.

Find the speed of a boat.

o View Text Solution

38. A sailor goes 8 km downstream in 40 minutes and returns in 1 hours.
Determine the speed of the sailor in still water and the speed of the

current.

O Watch Video Solution



https://dl.doubtnut.com/l/_BNVjA1ZPiCMP
https://dl.doubtnut.com/l/_gff7j64XEROu
https://dl.doubtnut.com/l/_0TUoHzyPjqDa

39. Anshula walks 35 km partly at the rate 4 km/hour and Partly at 5
km/hour, if she had walked at 5 km/hour. When she walked at 4 km/hour
and vice versa. She would have covered 2 km more in the same time.

Find the time she was walking.

° View Text Solution

5 3
40. A bucket when filled - with water weights 12 kg and filled 7 of it

with water weight 12.5 kg. What is the weight of the empty bucket?

° View Text Solution

41. Acids with 25% and 40% concentrations are mixed to get 60 litres of

30% concentration. How many litres of each kind is needed?

o Watch Video Solution



https://dl.doubtnut.com/l/_AMXh6Z6lfSWo
https://dl.doubtnut.com/l/_RtLAWuPVQduH
https://dl.doubtnut.com/l/_hd12iFe0WxxA

42. A person, invested some amount at the rate of 12% simple interest
and some other amount at the rate of 10% simple interest. He received
yearly interest of Rs. 130. But if he had interchanged the amount
invested, he would have received Rs. 4 more as interest. How much did

he invest at different rates?

° View Text Solution

43. rates?43. A milkman buys 15 litres milk partly at the rate of 12 per
litre and remaining at the rate of 14 perlitre. By selling the whole milk at

the rate of xx 15 per litre he has gained 12 %. Find the separate

° Watch Video Solution

44. Ved travels 600 km to his home partly by train and partly by car. He

takes 8 hours if he travels 120 km by train and the rest by car. He takes


https://dl.doubtnut.com/l/_GpvGsfKFuPGi
https://dl.doubtnut.com/l/_j2cGcWFBvNNo
https://dl.doubtnut.com/l/_ZZG9C7O5gUTU

20 minutes longer if he travels 200 km by train and the rest by car. Find

the speed of the train and the car.

° Watch Video Solution

45, Students of a class are preparing for a drill and are made to stand in
rows. If 4 students are extra in a row, then there would be 2 rows less.
But there would be 4 more rows if 4 students are less in a row. The

number of students in the class is (a) 56 (b) 65 (c) 69 (d) 96

o Watch Video Solution

46. A part of monthly hostel charges is fixed and the remaining depends
on the number of days one has taken food in the mess. When a student
A takes food for 20 days she has to pay 1000 as hostel charges whereas
a student who takes B food for 26 days, pays 1180 as hostel charges. Find

the fixed charges and the cost of food per day.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZZG9C7O5gUTU
https://dl.doubtnut.com/l/_efgtXjpszL2b
https://dl.doubtnut.com/l/_zwO84iky9ZLH

47. The ratio of incomes of A and B is 9 : 7 and the ratio of their
expenditures is 4 : 3. If each of them saves Rs. 4000 per month, then find
their monthly incomes. Also, if each of them donates 9% of his income
to a charity working for old age destitutes, then find the resulting

savings of each. What value is indicated from this action?

° View Text Solution

48. Mr. Mohit has decided to walk on a treadmill for a fixed distance.
First day, he walks at a certain speed. Next day, he increases the speed of
the treadmill by 1 km/h, he takes 6 min less and if he reduces the speed
by 1 km/h, then he takes 9 min more. What is the distance that he

decided to walk everyday?

° View Text Solution



https://dl.doubtnut.com/l/_zwO84iky9ZLH
https://dl.doubtnut.com/l/_nxe78yVq9axb
https://dl.doubtnut.com/l/_TksudAYOutOf

49. It takes 12 hours to fill a swimming pool using two pipes . If the pipes
of larger diameter is used for 4 hours and the pipe of smaller diameter
is used for 9 hours , only half of the pool is filled. How long would it take

for each pipe to fill the pool separately?

° Watch Video Solution

50. A number consists of three digits whose sum is 17. The middle one
exceeds the sum of other by 1. If the digits are reversed, the number is

diminished by 396. Find the number.

° Watch Video Solution

51.In an examination, the number of those that passed and the number
of those were failed are in the ratio 3 : 1, Had 8 more appeared and 6
less passed, the ratio of passes to the failure would have been 2 : 1. Find

how many appeared.

[ o |


https://dl.doubtnut.com/l/_SiWJpU3WkN1K
https://dl.doubtnut.com/l/_mjcFbICwwsj7
https://dl.doubtnut.com/l/_LcOvsXdWkNvm

l & Watch Video Solution J

52. Ratio between the girls one long 11 class of 40 students is 2:3 five,
new students joined the class how many of them must be boys so that

the both between girls and boys became 4:5?

° Watch Video Solution

53. A certain amount is charged for 1 km for a scooter fare and lesser
amount for each additional km. If one day Aliya paid Rs. 24 for 5 km and
on another day she paid Rs. 35.40 for 8 km. Find the fare for the 1% km

and for the additional kms.

o Watch Video Solution

54.1f 3 taps are open together, a cistern is filled in 3 hrs. One of the taps
alone can fill it in 10 hrs and another in 15 hrs. In how many hours does

the third tap fill it?


https://dl.doubtnut.com/l/_LcOvsXdWkNvm
https://dl.doubtnut.com/l/_Yomu1bvklKPH
https://dl.doubtnut.com/l/_zr80RRhLK95U
https://dl.doubtnut.com/l/_TP9xcxYwARCh

o Watch Video Solution

55. When the numerator of a fraction is increased by 4, the fraction

2
increases by 3 What is the denominator of the fraction?

o View Text Solution

56.Solve foraand b :

20 + 30 — 17and 2012 — 3t+1 =5

o Watch Video Solution

Revision Exercise Very Short Answer Questions

1. For what value of k the two simultaneous equation x +y =2 and x - ky =

1 will have no solution?

o Watch Video Solution



https://dl.doubtnut.com/l/_TP9xcxYwARCh
https://dl.doubtnut.com/l/_XrzrhuAMmkNg
https://dl.doubtnut.com/l/_11RtEZWdFhxf
https://dl.doubtnut.com/l/_bCkIbzTXFHuO

2. For the following system of equations determine the value of k for
which  the given system has infinitely many solutions:

kx +3y=k—-3, 12z +ky=k

° Watch Video Solution

3. Find the values(s) of k for which the system of equations kx — y = 2
6x — 2y = 3 has (i) a unique solution (ii) no solution. Is there a value of

k for which the system has infinitely many solutions?

o Watch Video Solution

4. Write the number of solutions of the following pair of linear

equations: z + 2y — 8 =0, 2z 4+ 4y =16

A.O


https://dl.doubtnut.com/l/_bCkIbzTXFHuO
https://dl.doubtnut.com/l/_wnAhUtvl3olc
https://dl.doubtnut.com/l/_9fOhwek0yRBy
https://dl.doubtnut.com/l/_XFUgqLml5cgQ

B.1

C. Infinite

D. none of these

Answer: C

° Watch Video Solution

5. For what value of k£ will the following system of linear equations has

nosolution?3z +y=1, (2k—lz+(k—1)y=2k+1

° Watch Video Solution

6.Solve x +y=10and x-y = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_XFUgqLml5cgQ
https://dl.doubtnut.com/l/_odHJVTjx1P1f
https://dl.doubtnut.com/l/_cbYd279MRTuz

7. For what value of k, the following system of equations will represent
the coincident lines?

3x-2y=5and 12x - ky = 20

o Watch Video Solution

8. Sum of two numbers is 35 and their difference is 13. Find the numbers.

o Watch Video Solution

9.If the lines given by 3x + 2ky = 2 and 2x + 5y = 1 are parallel, then

the value of k is

o Watch Video Solution

Revision Exercise Short Answer Questions



https://dl.doubtnut.com/l/_axc8RCREArbT
https://dl.doubtnut.com/l/_3oaDR3H8SdQu
https://dl.doubtnut.com/l/_jcuXoqI43nLK

1.Solve 3x + 2y =11 and 2x + 3y = 4.

A x=5y=-2

B.x=5,y=2

C.x=-5,y=-2

D. none of these

Answer: A

o Watch Video Solution

2.Solve:
3(2u + v) = Tuv

3(u + 3v) = 1luw

o Watch Video Solution



https://dl.doubtnut.com/l/_Nv7MeZxe6kKw
https://dl.doubtnut.com/l/_eaxCzkmXnvgp

3. Solve the following system of equations: % + y_ 9, % — % =6

3

° Watch Video Solution

4. Solve the following system of equations:

V2 —\/3y=0, 3z —.8y=0

° Watch Video Solution

5. Determine the values of aandb for which the following system of
linear equations has infinite solutions: 2z — (a —4)y =2b+1

4z — (a — 1)y =5b—1

o Watch Video Solution

6. Find the value of k for which the following system of linear equations

has infinite solutions: z + (k+ 1)y =5, (k+ 1)z +9y =8k —1



https://dl.doubtnut.com/l/_tpFzDNvQPUmp
https://dl.doubtnut.com/l/_bQe65XwoKR1N
https://dl.doubtnut.com/l/_j1RghNibqFXh
https://dl.doubtnut.com/l/_izrGdSnyNgrM

I ° Watch Video Solution

7. Determine the values of mandn so that the following system of linear

equations have infinite number of solutions: .3z + (n — 1)y —2 =0

° Watch Video Solution

8.5 pens and 6 pencils together cost Rs 9 and 3 pens and 2 pencils cost

Rs 5. Find the cost of 1 pen and 1 pencil.

° Watch Video Solution

9. A father is three times as old as his son. After twelve years, his age will

be twice as that of his son then. Find their present ages.

° Watch Video Solution



https://dl.doubtnut.com/l/_izrGdSnyNgrM
https://dl.doubtnut.com/l/_uOB43ekJa0fn
https://dl.doubtnut.com/l/_6UhtUhGMOyuo
https://dl.doubtnut.com/l/_BV8HDVv9MM0G

b
10.%—%:a+b,ax—by:2ab

o Watch Video Solution

Revision Exercise Long Answer Questions

2
1.Solve for xand y, px+ qy=1and gz + py = (I; q)z -1
¢+ q

o View Text Solution

r+ab y+ab

2 g2
5 5 and ax + by = a” + b”.

2.Solve

o Watch Video Solution

3.So|ve%—i— % = landa(z —a) — b(y + b) = 2a® + b*.

o View Text Solution



https://dl.doubtnut.com/l/_4dbrgzUCKB83
https://dl.doubtnut.com/l/_9CE930ZrLYzZ
https://dl.doubtnut.com/l/_6xZeHTXUVhkQ
https://dl.doubtnut.com/l/_OwrRA8zzIfn5

4. Acid with 25% and 40% concentration are mixed to get 60 litres of

30% concentration. How many litres of each kind is needed?

° Watch Video Solution

5. A trader purchases 4 bags of rice and 10 bags of wheat for Rs. 3600.
He sells rice at 10% gain and wheat at 2% loss and thus he gained Rs.

120. Find the C.P. of one bag of rice and one bag of wheat.

° Watch Video Solution

6. A jeweller has bars of 18 carat gold and 12 carat gold. How much of
each must be melted together to obtain a bar of 16 carat gold, weighing

120g (Given pure gold is of 24 carat.)?

o Watch Video Solution



https://dl.doubtnut.com/l/_OwrRA8zzIfn5
https://dl.doubtnut.com/l/_V8QJoo45QY51
https://dl.doubtnut.com/l/_NpxbajCC0FAp
https://dl.doubtnut.com/l/_vKRqeOVfTTRS
https://dl.doubtnut.com/l/_LaFDRYFwlmZ3

7.Divide c into two parts such that a times the larger part shall be equal

to b times the smaller part.

° View Text Solution

8. | bought 5 pens, 7 pencils and 4 erasers. Rajan bought 6 pens, 8
erasers and 14 pencils for an amount which was half more than what |

had paid. The percentage of total amount spent on pens by me is :

° Watch Video Solution



https://dl.doubtnut.com/l/_LaFDRYFwlmZ3
https://dl.doubtnut.com/l/_Q5IMQC2KUAeC

